e —_ £ . = H o [B5RA. (I35 b5 H —— o [ CIFEBELEBIC T —— = .
2023%F \WHRIBATRESEE _ Tl 8 SMHE RER PO R CusunsoraseRmncrissce 0 PR @ERE RE 1E
48 EtHE ESH = 58 i e = 6 A il 3 = 78 EiE ES = 8H i Ed = 9A EHiE ESE =
AR R EICE T Rl B I I T Rkl B A A K EmlaEs oA [EHm BEmhEn T 2| (Al E EmpEn TR E® EEl e R
[HES 11 A HES 1% s 1| & HES
2 | H 2 | & 2 | £ B SRR 2 | B 2 | K 2 | &
3 | A 3 |4 R OrAz] 3| eI 3|4 7/1484K 3| K 3| H
ripa A ET #EYDR 4R BERek 4 [ 41 & 418
5 | K 5| # ZELMA 5| A EREE 5 | K 5 | £ 5 | X
6 | K 6| 6 | X 6 | K 618 6 | K
7|1 & ~ Rk 718 7 | K Il ES 71A8 71K
8 | & AZR 8 | A 8 | K 8 | £ 8 |k 8 | &
9 [ B 9 |k HIES 9 | H 9 |k 9 | £
10| %2 4/84%4K 10 | Jk 10| £ 10| B 10] & B
11 K FRREARER 11] K 11| B 11] & 11| W EREAFE A
12 | K 12| & 12| A 12| /K 12| £ gl =] X
13| K 13| £ XA 13| X 13] K 13| B Eilad =] 7K
B 141 8 Hh B HRK | 14 ] K 141 & 141 8 EillE] x
15 | T R A FHRE 15 | &% 4/308K4K 15| K 15] £ EREFE 15| X Eilad =] &
16| B BRARABRE 16 | K h X = 2 16 | & 16 | H 16 | 7K T
17| B 17 ] K RS 17| £ 1718 EDH 17] K B
18 | & 18| & 18| H 18 | & 18| & A
19| K 19| £ 19| A b AR ER 19] K 19| £
20| K BEEEES 20| £ 20 | X 20| R 20| B
21| & EBE S 21| H 21| K A IES 2RES 21| A
22| = 22| B 22| K 22| £ 22|
23| B 23| W 23| & 23| B 23 | K ~EEKE
24| A 24| 5K 24| + 24| A EESES 24| KX SRR |
25| X 25| K 25| 8 25| & 25| & ERREEAER
26 | 7K 26| £ 26| B 26 | K 26| £
27 | K 27| £ 27| X th R SR i 27| K 271 H
28| & HiANT AN 28| B 28 | k oh R 524 5 28| & 28| B X HAREAER
29 | #1 BN E 29| A 2| K th AR HE f 29| £ 29 | & & SHIRKE
30 | &) PTARR 30] % 30| £ s 30| H 30 | Jk 30| +
31 ] K 31| A FEES

lllll HE EiE FHE = EE EiE EiE E X HE EE
FHAEH 6 0 FEHREH 4 0 EHAZEH 13 0 FEHREH 3 0 EHARZEH 6 0 FHAKEH 11 0
AHAEH 5 0 AKEAKREH 6 0 ARHIAZEH 5 0 AKEAREH 8 0 AKBH®=EH 8 0 AKB®=ER 6 0
S B E BB 4 20 #DIV/0! S B 3 BB 4 2.0 #DIV/0! S B E BB 1 27 #DIV/0! B R BB 1 20 #DIV/0! S B E BB 4 20 #DIV/0! o B BB 4 20 #DIV/0!
1K B H BHB R T 3.8 #DIV/0! K B RS R 25 #DIV,/0! 1K B H BB R T 6.0 #DIV/0! KBRS R 1 3.0 #DIV/0! 1K B & BB R 1 20 #DIV/0! 1K B & BB R 1 2.0 #DIV/0!
108 HE E#E p— 118 HE EiE . 128 HiE EiE S 1R HiE EiE — 28 itiE S S 38 FtiE EiE sy
RS B [AEE HRERE B [ 2 | B B| R [4ER RERR B[E&E REHA B[ & B [AER RRRE ERIE B [AEE REER ERIE B [hER REHE FEKZED |
118 11K] 2 il WE? EiliiE] W ES EAaEn| | 1|2 FER StE
2 | B 2 | R 2 2 2 | & Eilnl=] PR IES HEAM 2 | £
3 [ & o/2sfik| [3 ]3] 2 XE0H| [3 N BAF [ NI 82
4 |k 4 1] 8 BHARS 4 41K ~RERE 418 414 3/98 4K
5 | K 5| 8] 8 BHAXS 5 pRAELER 5| £ SRRAGAER 51 A 5 |k e
6 | & 6 | A 6 6|t 6 |k 6 | K ASER
71 x 7K 7 718 7 K AES ASE iR 0
8 | B 8 | Xk 8 8 | RADH 8 | K 8| & BIREH
9 [ ZK—YDH 9 [ x 9 9 |k S 9 [ & BEIREH #RBEKER
10 | & NES 10 10 | 7k 10] £ 0] B EHE
11 ] 7K 1] £ 11 1] K 11| B 11| A EIREH
12| K 12| B 12 12| & KEAFKET AL 12| #1 12 | ke EIRES 84
13| & 13] B 13 13| & KEAFRET AR 13| Mk 13 | 7K EIRER
14| £ R 14| & 14 14| 8 FEyP—. 14 | K IAES EIREE =45
15| B BEHA 15 ] K 15 15| B 15| K 15| & BIREHE
161 A EREE 16 | & 16 BEFHRRS 16 | K& 16 | & 16| £
17| K 17| £ 17 17| Kk 17| £ 17| B ERFEX
18 | 7K ERERE 18] & 18 18| K 18| B 18 | 1 3/17484K
19] K 19| B 19 19| & Q¥ NTRE 19| A 19 | & RKEBEE
20| & 20| A 20 20| £ D% NT Ak 20| 20 | £ E50H EHiE
21| 21| 21 21| H 21| Kk 21| K
221 H B SRR 22 | Kk 22 BRYERRS 2| B 2| K 2% BTR 166
23| B 23| K 23 23| X 23 | 1 KEFER 23| FERRE~
24 |k 24| & 24 24 | K 24| £ BEEES 24| B =4
25 | K 25| = 25 ERER 25| K 25| B 25| B
26 | K DRZEHT AN 26| B 26 ZBRE~1/4 2| & 26| B 26 | N O
21| & Q¥R 27| A 27 271 = 27| X 27| K
28| £ DR 28| X 28 28| H 28 | K 28 | K
2| H 29 | K 29 Ei I 2] A 29 | K ZEXFT 2| %
30| B 30| & 30 Eilia=] 30| X 30| £
syl 2 bl |1} 31 BT B stlk] 2 bl I 1 31| A

..... EHEl EST aHIEl EfE EHE EST &t EST el St EHE EST
EHAEH 3 0 FHxEH 9 0 THAEH 4 0 THREH 4 0 FHAZEH 9 0 LHREH 10 0
AKEAREH 6 0 KEHKREH 4 0 KEAREH 10 0 AKEAEH 9 0 AEHAEH 8 0 AKEARZEH 9 0
TH R R 20 #DIV/0! BRI 2.0 #DIV/0! TH R R R 20 #DIV/0! T H R T 20 #DIV/0! TH B T 20 #DIV/0! T & B R 20 #DIV/0!
KB R BRI 2.0 #DIV/0! K EEBRERTY 4.4 #DIV/0! KRB RIS 2.0 #DIV/0! KB EBRRETY 2.0 #DIV/0! KB E BRI 2.0 #DIV/0! kB RS RIT Y 2.0 #DIV/0!




